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MODE OF EXAMINATION
Genersl Knowledge, Englith Paper, Paychometric Avsesament, Interview ani Medica|
Ersminaiion

General Knowledge (Objective Questions) 50%1=50 marks (43 minutey)

1. General knowledga
2. Physical and Notural aspect of Nepal
3. Population and migration of Nepal

4. History of Nepel
5. National luminares of Nepal

6. Characteristics of plural sociely and Nepalese sociaty in that context
7. Social, economic, mmﬂmﬂwmkmum
communities of Nepal =

& General um!guonﬂmr}n ass
9. Chronologi evelopment of Nepalese Avia
10, Gmdw;manul Civil society

11. Characleristics of Nepalese aconomy
12. Globaiization and Nepal

13, Science, technology and curment affairs 5

14. Regional orpanizations (SAARC, ASIAN, Em:poanl.lnim, BIMSTEC)
15. United Nation and its subsidiarins.

18. Environment and sustainable development

17. Gender equality and Gender equity

18. Human Rights and commitmenl of Nepal

Psychomeiric Assessment 50 marks (30 minutes)

1. Verbal Reasoning Test 20
2. Numerical Reasoning Tesl 20
3. Nen-Verbal Reasoning Test 10

English Test (Subjective Questions) 50 marks (1:30 hry)
1. Essay Writing (around 250 words) 20
Z. Comprehension . 15
3. Translation from Nepali into English 15

Interview 25 marks

Medical Examination Class -3 Medical Assessment
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General Knowledge:

1. General Knowledge:

Composition of the earth
Ocean
Continent & Geographical Area
Latitude & Longitude
Continental shift
international Date line
Trade wind, monsoon
international time
SolarfLunar eclipse
General Knowledge on universe
2. Physical and Natural aspect of Nepal
¥ Impact of geographic condition of Nepal on its natlonal economy
¥ Difficulties and challenges of landlocked country
3. Population and migration of Nepal
4, History of Nepal
v Contribution of various Royal Dynasties (Le. Kirant, Licchhavi, Mall, Baise/Chaublse states,
Culture of Simrounagadh and other small states and shah) to the development of cultural and
religious tradition on Nepal
¥ Constitution of Nepal 2072 and Constitutional development.
5. Natlonal Luminaries of Nepal
6, Characteristics of plural society and Nepalese sodety In that context
7. Social, economic, cultural condition/custom of various ethnic groups & other communities of Nepal.
¥ General knowledge on soclal condition
¥ Challenges and prospects on initiatives for the upliftment of various socially backward ethnic
groups and communities of Nepal
¥ Social security to wamen, children and helpless people
¥ Challenges and prospects of raform Initiatives for social change
8. General Knowledge on Aviation
9, Chronological development of Nepalese aviation
v Historical development, prospects and challenges
¥ Role of air transportation in Nepalese economy
¥ Cidl Aviation Policy of Nepal
¥ Tourism Policy of Nepal
10. Good Governance & Civil Soclety
v Concept & Fundamental elements
¥ Concept of Civil Sodiety
¥ General Knowledge on citizen charter
11. Characteristics of Nepalese Economy

L N T T

©
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v Initiatives for planned economic development in Nepal
¥ Current periodic fflan, objectives and prioritles, major policies and strategles, resource
mobilization and resource allocation,
¥ Tourlsm and civil aviation In current plan
v Concept of privatization in Nepal
v Privatization in operation
v Concept and role of development reglon for economic development.
12, Globalization and Nepal
Y Trade
Y Foreign Investment
v Foreign aid
¥ International financial institutes ineconomic development of Nepal
13. Science, technology and current affairs
¥ Some renowned scientists of world and their contributions
¥ General knowledge on information technology, appropriate technology, alternative technology
and its application
14. Regional organizations {SAARC, ASIAN, European Union, BIMSTEC)
15. United Nation and its subsidiaries
¥ Role of Nepal in UN and regional organizations
16. Environment and sustainable development
¥ Concept, importance and relevance of sustainable development
¥ Environment related problems
17. Gender equality and Gender equity
v The difference between Gender equality and Gender equity
18. Human Rights and Commitment of Nepal
v Fundamental aspects of human rights
v UN charter on human rights
Y Commitment of Nepal to human rights
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Sample questions

b

What “11"“ l'l::n slogan tmoital of Nepal Touriem Yeur, 0117
u) Togeiher for Tourism ‘ -
¢l Tourist for all

b Tourism lor ever d) Together for Tourig

The focus point inside the Earth from Where eanthquake s originaled is called

---------------

al Galactic center ) Hypoce

b) Epicenier cuﬂ Naone oru:b:vc
Nepal udopted liberal Avigtion policy in ..o AD.

a) 1992 cl 1996

by 1994 d) 1998
Which one of the following is related with WTO?

a) SAPFTA

c) TRIPS

b) BIMSTEC d) SAFTA
The real GDPthr:hnlNanth‘fIll]lﬂHm ....................

a) 30 c) 4.0

b) 1.5 . d) 4.5

Which one of the following order s comect wecordi graphical location
ranging form East 1o West? s

a) Kanchanjangha. Makalu, Sagarmatha, Annapuma, Manasiu

by Makalu. Lhotse, Annapurna, Manasiu. Dhaulagiri

¢) Kanchunjungha, Sagarmatha, Makaly, Manasly, Annapurna

d) Makalu. Lhotse, Manasiu, Annapuma. Dhaulugiri

The lowest administrative unit was said 10 be ........ooooevenens. in Lichachhavi
Period, whose administrative chief was called......... R .
a) Grum - Pradhin
b) Tul - Talsing
¢} Dranga- Kuther
d) Bishaya - Bishayupati
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1. Essay writing

Sample question:
Write an essay of about 250 words eaplaining the role of civil aviatan in Tourksm

2. Comprehension

Sample question:
Read the following passage and answer the questions below:

The development of the space shutile has dramabcally reduced the con
loads into space. m shuttle takes off from Eanh like & rocket, and land again like :,:m’;:
1t can ransport not only ils own Crew, but also passengers, and has 3 huge cargo-hold which
is capahle of carrying large gulellites or a space lahoratory. -

Before the space shuttle was created. it was necessary 1o plan trips inio space seven
years in advance. However, for the rest of the century il should be possible 1o make tpace
Mights every week or so. Any scientist or engineer needing travel onto orbit will simply take
the next shuttle Might, stay as long & necessary, and then return at his or her convenience,

It is difficult to imagine the ipmense opportunilies created by the shuttle. One of the
greal sdvantages of having a reusable space vehicle is that it can take one load afier another
into orbil. Very large space siations could not be launched in their complete form direciy
from carth, but they could be buill picce by piece in spuce. The space shutile is likely 1o be
used as gencral ‘workhorse’ for the rest of the cenrury. and the building of such sations in
orbi1 should become common place. :

Once these huge orbiling space siations ure compleied. they are likely 1o become the
plarforms from which hundreds of robot space ships could be launched cheaply and easily 1o
explore the solar sysiem and 1o siart mining operation on the Moon. The technology needed
for this is already developed and available. And because of commercial and military
pressures to developed space technology. it is likely that governments will be increasingly
willing to start extensive programmes of space enginecring. exploration und repearch,

u) What it spuce shuttle und how does it work?

b) How has the shutile made space iravel casy?

¢) What are the main sdvantages of reusable space shultle?

d) How can the space plaiforms be used?

e) For what purposes are the space stations likely to be used by the governments?

- |

Seanned with CamiScanner



Translation from Nepall intw English

L
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Psvchometrie Assessment

Some Characteristics

21-

Stressful oceupation

Quick with Numeric computation and mathematics
Decision making skills and process

Excellent short term memory

Visual memory abilities

Degree of situstion awareness

Excellent hearing and speaking skills

Verbal Reasoning Test 20

11
1.2
1.3
14
1.5
1.6
1.2
1.8

Series

Analogy

Classification
Coding-Decoding
Direction sense test
Assertion and Reason
Siwation Reaction Test
Courses of aclion

Numerical Reasoning Test - 20

2.1
2.2
23
24
25
26

Serics

Annlogy

Classification
Coding-Decoding
Height & Distance
Arithmetical Reasoning

Non-Verbal Reasoning Test 10

KR
3.2
13
34
3.3

Series
Analogy
Classification
Waler images
Matrix
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Sample questions :
I. Verbal Reasonlng Teqt

L1 Serles

Directions: In each of the following questions. various terms of an alphabet

series are given with one or more terms missing as shown by () Choose the
missing terms out of the given alternatives, y i

I M.N.O,LRIV?

(a) A (b) E (¢)F diH Z
! ZSW.O0TKQG%7 W "
(a)N.C (b)N.D 0.cC 0.D
3 bedf?hj?1 © "
(a)im (b) mi (¢)in . (d)j m

4  AB, DEF, HUK, 7
() LMNO  (b) LMNOP (c) MNOPQ (d) QRSTU

3 ALBJCK?
(a) DL (b) DM (c) GH (d) LM
6 AZ GT,MN, 2, YB
(a) JH (b) SH (c) SK (d) TS
Answer
l. (b): The given sequence is a combination of two series ;
LM.O.RV and LNLL?

The pattern in [ is M, 0 ,R 2, vy

The patternin Dis: N —L, [ 31, | — (B)

So, the missing letter is E.
2. {ﬂ:ﬂ:givcnkqumitlmmbimﬁmafmﬁu:
LZW,T.Q? and M.5,0,KG,1
hwpmminri::Z—*L.W-;’-.T—'—‘-.Q—‘-’-{H]
The pattem in Mis: S —— 0 —K—=3G6—=(©

3. (a) : The series may be divided into groups as shown :
bed/f21/j7]
Clearly in the first group, the second and third letters are respectively
three and (wo steps ahead of the first letter. A similar pattem would
follow in the second and third groups, '

4. (c): The number of letters in the terms of the given series increases by
one at cach step. The first letter of each term is two steps ahead of the last
letter of the preceding term. However each term consists of consecutive
letters in order.

®
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S.otn) Ustletter ;A =ty B 2 C 2y (DY
Mietier ;| =ty ) 2y K —2ly (L)
6. (b): Istletter : A —2u G—24 M —2 (§) —= ¥
Miletter 1Z =24 T =4 N =4 () —==D
1.2 Annlogy _ ‘
Directions: In each of the following questions, these is 2 certain
relationship between two given words on onc side of : : ?I'Id one
word is given on another side of : : which another word is 0 bﬁ
found from the given alternatives, having the same relabion with
this words of the given pair bear. Choose the correct aliernative,
l.  Food: Stomach : ; Fuel : ?

(a) Plane (b) Truck (c) Engine (d) Automobile
2.  Moon: Satellite : : Earth : ? A
(a) Sun (b) Planet (c) Solar system  (d) Astcroid
3. Laugh:Joy::Weep:? _
(a) Grief (b) Remorse (c) Baby (d) Punishment
4., Good:Bad:: Virue:"? '
(2) Blame (b) Sin (¢) Despair (d) Vice
5.  Melt: Liquill: ; Freeze : ?
(a) fee (b) Condense (c) Solid (d) Crystal
6.  Fear:Threat:: Anger:?
(2) Compulsion (b) Panic (c) Provocation  (d) Force
7. Doctor is related 1o patient in the same way as Lawyer is related
o "

(a) Customer (b) Accused  (c) Magistraie () Client

8.  Happiness is related to Sorrow in the same way as Comfort is related
o..7..
(a) Hardship  (b) Rest (c) Poverty (d) Difficulty

Answenrs

I. (¢): Food is processed by the stomach 1o provide energy for functianing
of the body. Similarly, fuel is processed by the engine 1o provide
energy for the functioning of antomobile.

2, (b): Moon is a sat=llite and earth is a planet.

(2): Firstindicates the second.

(d): The words in cach pair are antonyms of each other,

(¢): Second is the physical stale obiained as a result of the process

denoted by the first.

(c): First arises from the second.

(d): First works for and eams [rom the second.

(a): The words in each pair are antonyms of each other.

N )

el

®
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1.3 ClassiNcation:

Directions: In each of the follawing questions, five words have been

given, out of which four are alike in some
different. Choose out the odd one. A . b

I (0)Dog () Horse  (¢) Gout (d) Cat (e) Fox

1, (2) Tomata (b) Carrot (¢) Ginger Potato urmeri

3. (a) Chicken (b) Snake lc: Swnu'n E:}I‘Cmmﬂl:ﬂr (¢) F:u

4, (a) Tall (b) Huge  (c)Thin  (d) Sharp  (e) Small

5. (a) Seal  (b) Scorpion (c) Fish  (d) Cat (e) Lion
M:';m @ Zinc  (b)Tron  (c) Aluminum (d) Copper (e) Mercury

I (€): All except Fox are domestic animals, while fox is a wild animal.
2 (a):All except Tomato grow underground.

3 (8): All except Chicken can live in water.

4 (d): All except Sharp are related to dimension.

5 (a): All except Seal are creatures related to signs of zodiac,

6 () : Mercury is the only liquid metal in the group.

1.4 Coding-Decoding

1. If POND is coded as RSTL., how is HEAR writien in that code?
(A)GHU  (b)GHIZ (c)JIGZ (d)ZCLZ (e) None of these

2. In a ceruain code, TELEPHONE is written as ENOHPELET. How it
ALIGATOR written in that code?
(3) ROTAGILA  (b) ROTAGAIL (c) ROTAGILE (d) ROTEGILA

3.In & certain code, INACTIVE is written as VITCANIE. How is
COMPUTER written in the same code?
(3) PMOCRETU (b) ETUPMOCR (c) UTEPMOCR (d) MOCPETUR
4. In a certain code, CAT is writien as SATC and DEAR is written as
SEARD. How would SING be written in the same code?
(a) BGINS (b) SGNIS (c) SINGS (d) GNISS
5. If SYSTEM is coded as SYSMET and NEARER as AENRER, then
FRACTION will be coded as
(a) CARFNOIT  (b) NOITFRAC (c) FRACNO (d) CARFTION

Angwers

I (c): The first, second. third and fourth letters of the work are moved
two, four, six and eight letters forward respectively to obtain the

code.
2 (a): The letters of the word are written in a reverse arder to oblain the

code.

@
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3 (b): Al the letiers of the wosrd, except the last letter, ATe wHERS
reverse ueder (o obiain the code, -

" TI“ Tirst Jetter of the word is moved 1o the last posiuon and 'S” is
Ploced al the beginning. tu form the code. :

S te) The letters in the first half and second half of the word ar¢ L
in the reverse order to obtain the code

1.3 Direction sense fest

). Ram walks northwards, Afier a while. he tums 10 his right and a Tisthe
further 1o his left. Finally, after walking a distance of one kilometes, he
tams 1o his lefl again, In which direction is he moving now?

(2) North {b) South (c) East (d) West

2. A man walks | Kmlnwud:ﬁulmdﬂﬁnhtmlnswthﬂﬂms
km. Again he s 1o East and walks 2 km. afier this he furns 1o North
and walks 9 km. Now, how far is he from his starting point?

(2) 3 km (b) 4 km (€)5km (d) 7 km

3. Raj traveled from a point X straight 1o Y at a distance of 80 meters. He
turned right and walked 50 melers, then again tumed right and walked 70
meters, Finally, he mmed right and walked S0 meters. How far s he from
the starting poin1?

(2)10m (b)20m (c)S0m (d)70m  (c) None of these

4, Laxman went 15 kms 10 the west from my house, then turned lefi and
walked 20 kms. He then rumed East and walked 25 kms and finally
turning left covered 20 kms. How far was he from his house?

(a) 5 kms (b) 10 kms (c) 40 kms (d) B0 kms

5. From his house, Lokesh went 15 kms to the North. Then he tuned West
and covered 10 kms, Then, he tumned South and covered 5 kms. Finally,
turning 1o East, he covered 10 kms. In which direction is he from his

house ?
(a) East (b) West (¢) North (d) South
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Answer

L (d)

2.(e):

Y(a):

4.(b):

»

The movements of Ram are as shown in = E—

direction DE 1.2, West

D
Fig. 1.
Clearly, he is finally walking in the Jllﬂ’«
C

The movements of the man are as shown ;15#
inFig.2(AwwB.BwoC.CtoD,DiwoE).
Clearly. DF = BC = 5 km. /
EF=(DE-DF1=(9-5 kin=4km f s
BF=CD=2km 3 B
AF=AB +BF=AB+CD=(1+2)km A4S F
=3km 1 km

~ Man’s distance from skiarting point A
= AE €l +§
= [ (AF+EF) a o
= [
= 35 v
=Stm -

9 km

The movements of Raj are as shown in c__wm ¥
Figd.(XwoY.YwA AoB, Bu(). P
.: Raj's distance from the starting point
= XC = (XY - YC) = (XY - BA)

=(80-70)m = 10 m. 8 o m ry

S0 m
-
-

The movements of Laxman arce a3 B 15my E
shown in Fig. 4. .

:Laxman's distance from his house stA. € g
=AE=(BE-BA) al e
I{CD'BA]
z(5=-15im=10m +
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Ste): The movemenis of Lokesh are 8% 107

shown in Fig, . (Ao B, Blo C.Clo 5wm £
Clearly, his final position is E which is
1o the North of his house at A.
Fig- 5.
1.6 Assertion and Reason
Directions: In each of the questions Biven below, there wre IWO
statements labeled as Assertion (A) and Reason (R).
Mark your answer as per the codes provided below: L fA
(a) Bothhnndllmn'ntmdllhm:mr:ﬂ:ﬂ‘m“‘"““ A
(b) nnm.t.wnmmmnnmunumtwhm“““
(¢) A istrue but R is false.
(d) A is false but R is true.
(¢) BothA andR 2w false.
| Assertion (A): Alcohol rather than mercury i “lﬂwj‘:: ’

thermomeler to measure a temperature of ~
Reason (R) :  Alcohol has a jower freezing point than mercory:

2. Assertion (A):  Salt is added 1o cook food at higher altitude.
Reason (R) : Temperature is lower at higher altitudes.

3. Assertion (A):  Carbon monoxide when inhaled causes d:lﬂ'l:
Reason (R) : Carbon monoxied combines with heamoglobin,

4. Assertion (A):  We feel colder oo mountains than of plains.
Reason (R) :  Temperature decreases with altitued.

5. Assertion (A): Inside the carth metals are present in molten state
Reason (R) :  Earth absorbs the sun’s Tays.

6. Assertion (A):  Thereis no vaccine for AIDS.
Reason (R) : The AIDS virus changes its genetic code.
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Answery

L (a):

2.(b):

3. (a):

4.(a):

5.(c):

6.(a):

L7

Mercury freezes at - 39° C, while alcohol freczes at a point
far below - 100" C, So alcohol is used 1o measure lower
lemperatures. Similarly, mercury boils at 357° C while
alcohol boiv. at 78° C. So, mercury is used (0 measure high
lemperatures.

Due to decrease in pressure at higher altitudes, water boils
much below 100° C. so that the food does not get sufficient
heat for being cooked. Sall increases the boiling paint of
waler.

Carbon monoxide, when inhaled. combines with hemoglobin
of blood o form carboxyl hemoglobin which inhibits the
transport of oxygen.

Higher abave the sea level, temperature decreases at the rale
of 1I°C for every 165 metres of ascent making mountain

peaks colder

Inside the carth, the high temperature ad pressure keep the
metals in molien state. The earth does not absorh the sun's
rays but reflects them.

A vaccine contains the inactivated germs of the disease. But
the AIDS virus changes itz genetic code and 50 no vaccine
has been invented for it.

Situation Reaction Test

If your friend asks for some mrﬁummrﬁ will
(a) refuse to give

(b)  ask for what purpose the money is required and then decide
(c) immediately give the money without enquires about the

purpase
(d)  None of these
[n a bus you realize that someone has left hisher wallet. You
would
(a) give the money to the beggar
(b) hand it over to the bus conductor -

(c) try to find histher contact number and inform the owner

(d) leave the wallet as it is

®
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you have made some silly mistakes which have been pointed
you. You will
(8)  laugh it awny
(b} geuvnngry
:sl feel miserable
)" feel thankful
4. Your classmate, who got you In a fix recently with a teacher. has
mel with an accidenl. Yoo
(a) carry on with life unaffected
(b) feel that God taught him/Mer a lesson
(c) decide to visit him/er in the hospital
(d) tell others that this is the way one suffers for
suffer
5. After a purchase the shopkeeper returns Rs. 100 extra lo you. You
will
(a) treat your [riends to a lunch
(b) offer Rs 20 at a temple and pray for more such instance
(¢)  buy another and hope he will give another Rs. 100 extra
(d) return the extra money to the shopkeeper

making others

Answers L.(b) 2.(c) 3(d) 4.(c) 5.(d)

1.8 Coorses of Action
Directions: In each question below is given a statement followed
by tow courses of action numbered 1 and T1. You have 10 assumne
everything in the stalement to be true and on the basis of the
information given in the statement, decide which of the suggested

courses of action logically follow (s) for pursuing.

Give answer (a) if only 1 follows; (b) if only 11 follows, (c) If either
I or TI follows: (d) if neither T nor 11 follows and (e) if both I and

11 follow.

1. Stalemeni | There has been a significant drop in the water level of all the
lakes supplying water 1o the city.
Coursesof | 1. The water supply authorily should impose a partial cut in
action supply to tackle the situation.
1. The govemment should appeal to all the residents through
mass media for minimal use of water.
7. Statement | On an average. about twenty people are run over by traing
and dic everyday while crossing the railway wracks through

the level crossing.
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Courses of
aclion

I. The milway authorities should be instrucied 1o close all the
level crossings,

I1. Those who are found crossing the tracks. when the gates are
closed, should be fined heavily.

3. Sttemen;

There is a substantial increase in the number of accidents
causing deaths and severe injuries due 1o malfunctioning of
the traffic signals.

Courses of
action

I. The traffic police should immediately post. traffic personnel
al the junctions.

1. The signal sysiem should immediately be repaired or
replaced.

4. Statemen)

As many as ten coaches of a passenger train have derailed
and blocked both pairs of the railway tracks.

Courses of
aclion

I. The railway authorities should immediaiely send men and
equipment 1o the spot to clear the railway tracks.

IL. All the trains running in both the directions should be
diverted to other routes.

5. Statement

Maos! of the development plans develop in papers only

Courses of

L. The incharges should be instructed w0 supervise the field-
work regularly,

T1. The supply of paper to such departments should be cut

short.

Answers

l.(e):

2.(b):

3.(e):

4.(e):

5.(a):

The situation can be tackled by periodic cuts in supply, and
urging people to conserve waler. So both the courses
follow.

The accidents can clearly be prevented by barring people
from crossing the tracks when the gates are closed. So. only
1 follows.

Clearly. either the traffic signals should be made 1o
function properly or traffic personnel should be deployed to
puide vehicular movement in the right way. So. either [ or ii
follows.

The siation demands first diverting other trains 1o
different roules so 2s to averl any accidenl and then
clearing the tracks as soon as possible. Thos, both the
courses follows.

Clearly. proper supervision alone can see the development
in practice. So. only course 1 follows.

®
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L Numerical Reasoning Test

L1 Serles .
Directions: In each of the following questions, a naumber series is

Eiven with one term missing. Choose the comect alternative that will
continue the tame pattern and replace the question mark in the given
series,

I 1.9.25,49712)

(2) 64 ()81 YT (d) 100
. 4.7,12,19 18,1

(a) 30 (b) 36 (c) 39 (d) 49
3. 1L 1317,19,2).25,1

(2) 26 (b) 27 (c) 29 (d) 37
4. 6,12,21,7, 48

(a) 33 (b) 38 (c)40 - (d) 45
5. 2,5,9.7,20.7

(a) 14 (b) 16 (c) I8 (d) 24
Answers

. (b) : The given series comsists of squares of consecutive odd
numbers i.e. 1,37, 5%, 7%, ...
So, misting term = 9% = 81,

2. (c): Thepaticmis+3, +5.+7,+9, ...
So, missing term = 28 + 11 = 39,

3. (c):Thepatiemis+2, +4,+2, +4, .....
So, mizsing term = 25 + 4 = 29,

4. (2):Thepatternis 6,49, + 1% + 15, .....
So, missing term =21 + 12 =33,

5. (a):Thepatternis +3,+4,+5,+6,.....

So, missing lerm =9+ 5 = 4,

21 Analogy )
Directions : In each of the following questions, there it a certain
relationship between (wo given numbers on one side of : : and one
number is given of another side of : : while another number is to be found
from the given altemnatives having the same relationship with this number
as the numbers of the given pair bear choose the best altenative,
l. 42:56::72:1

(a) BI (b) 90 (c) 92 (d) 100
2, 49:81::100:7

(a) 64 (b) 144 (c) 169 ° (d) None of these
J. 9:80::100:7

(a) 901 (b) 1009 (c) 9889  (d) 9999

®
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4. 7584 :5362::467):7

(a) 2367  (b) 2451 (c) 2535 (d) None of these
5. A265:41376:: 46717
(a) 2154 (b) 1562 (c) 5487 (d) 5784

Antwery

—
-

(b) : Clearly.42= 6x 7:56 = Tx 8;72= 82 9.
So missing nurnb-:r-'i: ll‘.l-'?D

2. (b): The relationship is x* {:+ )%
3. (d): The relationshipis x : (x* = 1).
4,  (b): The relationship is x ; (x - 2222).
5. (d): The relationshipisx : (x + 1111).
2.3 Classification .
Directions : Choose the odd numeral pair/group in each of the following
questions :

1.{a) 34-43 (b) 55-62 () 62-7I (d 83-92
2.(a) 2-8 (k) 3-27 (c) 4.32 (d) 5-125
3.(s) 80-9 (b) 64-8 (c) 36-6 (@) 7-49
4.(a) 1-0 ) 3-8 () 6-35 (d 7-30

Answers
1. (b):In all other pairs, second number is 9 more than the first.
2. (¢):Inall other pairs, second number is the cube of the first.
3. (2):In all other pairs, one number is the square of the other.
4.  (d):In all other pairs, the sum of two number is 8.
5. (d) : In all other pairs, the second number is one less than the

square of the first number.

24 Coding~ Decoding

1. In a certain code, the word DEAL is coded as 4 - 5 -1 - 12,
Following the same rule of coding, what should be the code for the
word LADY?
(a) 12-4-1-25 (b) 12-1-4-25
(¢) 10-1-4-23 (d 10-1-4-22

2. IfA=2.M=26Z=52then BET=?
(a) 44 (b) 54 (c) 64 (d) 72

3.  [IfA=26.SUN=27.then CAT =?
(8 24 (b) 27 (c) 57 (dv 3B

4. I ina certain code. BAT = 23 and CAT = 24, then how will you
code BALL?
(a) 27 () 28 (¢) 32 (&) 120
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ir GO = 32. SHE = 49. then SOME will be equal to
(@) 56 (b 58 (c) 62 (d) o4

rs
“ﬁhl . Clearly. each letter is coded by the numeral denoting its position jq

the English alphabet.
mus_i]hmdcd.u I.Bas2.Cas3, Dasd,....Las 12, Mas 13, v

a5 25. Z a8 26. So. the code for LADY is 12~ 1 -4 -25.

(b} : Clearly, each leuter is assigned a numerical value which is twice the
numeral denoting its position in the English alphabet.

B, E and T are 2™, 5" and 20 letters respectively.
So.BET=B+E+T=(2P2)+(5P2)+(20P2)=54.

i

3 (c) : Clearly. each letter is represented by the numerical denoting its
ition from the end of the English alphabetie. Z=1. Y= 2, . M=
14,....B=25 A =26.
Then, SUN=S5+U+N=8+6+ 13=27.
So,.CAT=C+A+T=24+426+7 =57.

4 (a) : C is onc step ahead of B and the code for CAT is | more than that
for BAT. Thus. the letters are coded by numerals denoting their positions
in the English alphabetiec. A=1,B=12, .., Z=126.
So.BALL=B+A+L+L =2+1+12+12 =27.

§ (a):Inthegivencode, Z=1,Y=2,X=3,..,C=24,B=25Z=26.
S0,G0=20+12=32and SHE=8 + 19 + 22 =49.
Similarly, SOME=S5+0+M+E =8+ 12+ 14+22=356.

2.5 Helght and Distance

[.  Two ships are sailing in the sea on the two sides of a lighthouse.
The angle of clevation of the top of the lighthouse is observed from
the ships are 30° and 45° respectively. If the lighthouse is 100 m
high, the distance between the twa ships is '
(2) 173 m (b) 200 m (c)273m (d) 300 m

Answer: Option (¢)
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Explanation:

Let AB be the lighthouse und C and D be the
positions of the ships.

Then. AB =100 m. Z4Ch =30 ®and 2AD8=45" b

-‘-—-’l II = q =
= tan 30° ﬁaac ABxyT =100/ m

ﬂn[anlfp't | =2 AD=AB =100m
AD
2CD=(AC+ AD)= (100/3x + 100) m s
= 100(J3 4+ 1)
=(100P273)m .
= 2Mm 'y
C A

2. A man standing at a point P is walching the top of a tower, Which
makes an angle of elevation of 30° with the man's eye. The man walks
some distance lowards the tower 10 walch its top and the angle of the
elevation becomes 60°. What is the distance between the base of the

tower and the point P? .

(n) 43 units (b) 8 units (c) 12 units (d) Data inadequate
Answer: Option (d)

Explanation:

One of AB, AD and CD must have given.

So. the data is inadequate. ‘ 1
3. The angle of elevation of ladder lcaning against a wall is 60" and the
foot of the ladder is 4.6 m away from the wall. The length of the ladder
s
2 b) 4.6 m (c)78m ()92 m
e “ Answer: Optio {d)

®
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l-xplanation:
[ et A be the wall and BC be the [sdder.

Then, 24CB=60"and AC =46 m

AC 60° l
ac v E g

BC=2xAC= (12x4.6) m=9.2 m,
4, An observer 1.6 m tall is 203 l“rﬁ'm”ﬂ*ﬁ-ﬁem;leur
elevation from his eye to the top of the tower is 30°. The heights of the

tower is

(8)216m (b)23.2m (c)24.72 m (d) None of these
Answer: Option (s)
Explanation: .
Let AB be the observer and CD be the tower.
D
/’ /
-3
E
E
w0
p= 20/3
A 'J;

Draw BE L CD Then, CE =AB = 1.6m, BE=AC =20/ m.
D%E-m}ﬂ'-zli.nﬂ-lﬂﬁfﬁm-mnj.
sCD=CE+DE=(16+20)m=2l6m

®
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5. From a point P on a level Fround, the angle of elevation of the tap tower
is 300, 1T the tower is 100) m high. the distance of pont P from the foet

of the tower iy ;
(n) 149 m {h) 156 m (ey 173 m (d) 200 m
Answer won (c)

Explanation: o
Lel AB be the tower,

I}

100 m
30
p A

Then, < APB = 30" and AB = 100 m
1
“%F= tan }nn'?]-
AP =(AB x+/i)m, = 100x 3 m, = (100x 1.73) m, = 173 m.
1.6  Arithmetical Reasoning
I A shepherd had 17 sheep. All but nine died. How many was he lefi
With?
(a) Nil (b) 8- (c)9 (d) 17

2, hBh‘dlhmt:rmukadhnwmmyhird;lthndinﬂubq.H:
replied that there were ass sparrows but six. all pigeons but six, and
all ducks but six. How many birds he had in the bag in all?

(2) 9 )18 (€} 27 (d) 36

3. What is the smallest number of ducks that could swim in this
formation - two ducks in front of a duck, two ducks behind a duck
and a duck between two ducks?

(m) Nil (h) & (c)9 (d) 17

4. The 30 members of a club decided 1o play a badminton singles
lournament. Every time @ member loses & game he is oul of the
lournament. There are no ties. What is the minimum number of
maiches that mas! be played to determine the winner?

(a) 15 (b) 29 (c) 61 (d) None of these

®
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A man wears socks of two colours - blaek and hegwn e hay
alogether 20 black socks and 20 hrown socke in o deywer
Suppasing he has o take vut (o socks in the dark, how many -
he take out 1o be sure that he has & matching pair?

(a)) (h) 20 (e) 39 (d) None of thess

Amvveny

3.

ey All but nine died” means 'All except nine died e, 9 theep
remained alive.

: 1a) ‘There were all sparrows but six’ means that six birds were ey
sparrows hut only pigeons and ducks,
Similarly, number of sparrows + number of ducks = 6 and numpber
of sparrows + number of pigeons = 6,

3.{a): Clearly, the smallest such umber is 3. Three ducks can be tmanged
as shown alongside to salisfy all the three given conditions, DJ

o

4. (b) : Clearly, every member except one (i, e, the winner) must lose one
game 1o decide the winner. Thus, minimum number of matches 1
be played = 30 - 1= 29.

3. (a) : Since u:ummchnfnnlymmlmn.mmmdmm
socks must always be of the same colour,

Non-Verbal Reasoning Test

3.1 Serles '

Directions: In each of the following questions, there is & s2t of four
figures labeled A, B, C and D called the Problem Set followed by a set of
five other figures labeled 1, 2, 3, 4 and 5 called the Answer Set. Fig, (C)
contains 3 question mark. Select a suitable figure from the Answer Set
which will substirute this question mark so that a series is formed by the
figures A, B, C and D taken in order. The number of the selected figure is
the answer, -
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1 l‘RﬂRLE’Ffl FI(]EIRF.S ANSWER MIGURES

HMENEGRIrMES
* L] o] (o T
O 5 o ng

RIS
Clefle | ? L | Bl

C

-

1 21 3 4 8

I (5): In each swep, the figure rotates 90° CW: moves to the
adjacent side of the square boundary in 3 CW direction and a
new larger semicircle is added outside the existing
semicircles.

2. (1): Inone siep. an arrow poiniing downwards and a pin poinling
vpwards are added 1o the RHS of the exisling elements. In
the next step, a pin pointing downwards and an arrow
pointing upwards are added 1o the RHS of the existing
elements.

3. (4): In each step. the pair of line segments rotates 90° CW; it
moves 1o the adjacent comner (of the square boundary) 1n a
CW direction: the symbol moves to the adjacent comer in a
CW direction and gets replaced by a new one.

4. (2): The number of lines and the number of dots decrease by one
altemately.

321 Analogy
Directions: Each of the following questions consisis of two sets of
figures. Figures A, B, C and D constitute the Problem, Set while
figures 1,2, 3, 4 and 5 constilute the Answer Set. Thereisa  definite
relationship between figures A and B. Establish a similar relatinnship
between figures C and D by sclecting a suitable figure  from the
Answer Set that would replace the question mark (?) in fig. (D).

®

Seanned with CamiScanner



PRI M FIGURES ANSWER PIGURES
Y R= L SN | O (S
FIEICIRRG
) LJ -
\ B C D I
T TR 3
il dp | 200 | 9 & o6
ilg—_ L o u": . o
A n C D [
1 = —— ey - ':--
BN ?1 |
A B C D 1
1.
e -
? ;E
Tz 2 | (= ﬁ
5.
u—A.LE-:l | ? B ] e ] H’ﬁ
Answers

JI]

. (2): The figure gets vertically inverted.
. (2): The complete figure rotates through 180° and the clement

that reaches the position rotates further by 90°CW.

(3): The figure rotates through 90° ACW.

(2):  The four parts at the outer ends of the figure are lost.

(5): The inner element enlarges to become the outer element
while the ouler element reduces in size tums black and
becomes the inner element.

Classification
Directions: In each problem, out of the five figures marked (a), (b).
t€). (d) and (e), four are similar in a certaip manner, However one

figure is not like the other four. Choose the figure which is
different from the rest,
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(a) (h {c) d) (e}
4 .
0 <> Al[0]|©
(1) (b) (c) 1d) (e)
s. o
|
(a} (h) (c) (d) (e
Answers

1. (d) : The two dols lie on the same side of the diagonal only in fig.(d).

2. (d) : In all others figures, the two double sided arows intersect each
other al right angles.

3. (c) : Only in fg. (), two out of the four elements are opening in the same
directions.

4. (b) : In each one of the figures, excepl fig. (b), the number of sides in the
inner elements is one more than the number of sides in the outer
elements.

9. (b) : Each one of the figures except fig. (b). consists of five amowheads.

@
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3.4 Water Images
Directions: In each of the following questions, you are given a
combination of alphabets and/or numbers followed by four alternatives (a),

(b), (c). and (d). Choose a alternatives which most closely resembles the
water images of the given combination .

1. US81Q4M5W3

(a) N28{0tNGME (b) N26I0YNRM3
(c) NS3{OtNRME (d) N284 OtNRM3
2. monday
(a) yadnom (b)\sbnom
(c) Asquow (d) WouggA
3. rise
(a) Liee (b) esir
(c)vies (d) s2i
4. wrote
(a) wiolse (b)m10)8
(c) MLof6 (d) mMLogs
5. bridge
(a)puqde (b)PUqds
(c)puqds (d) pupds

Answers 1.(d) 2, (d)

3.5 Matrix

5. (b)

Directions: In each of the following question, find out which of the
answer figures (a), (b), (c) and (d) completes the figure matrix ?
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o] o
el I STols
; (a) I.'b.] () (d) (ay  (b) (e) uh:
CEIES DI
@& |+ ozl
NI SiEak
<] FAB&
@ (b (c) (d) @ M (@© &
FL. Y
{1 4§ |
| 1]

(a) (b () ()
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Angwe' s -

t (bi: In cach row. the second figure is obtained from the first
figure by adding two mutually perpendicular line segments at the
centre and the third figure is obtained from the first figure by
adding four circles outside the main figure,

10. f{a): Each row (as well as each column) contains a figure
consisting of a circle and two consisting of a circle and four line
segments.

1. (d): In each row, the second figure is obained by removing the
outermost element of the first figure and the third figure is obtained
by remaving the outermost element of the second figure.

12. (e): Ineach column, the second figure (middle figure) is obtained
by removing the upper part of the first figure (uppermost figure)
and the third figure (lowermost figure) is obtained by vertically
inverting the upper part of the first figure.

3. (¢): In each row, the third figure is a collection of the common
clements (line scgments) of the first and the second figures.

—
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